= o
A & 0l & AF 2 E A A
20138 = =0 &k e A ALY ~ AL LT
AN ALY
2 THol = M o
Sl T (25 & @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FaR=RipN I 42,337,277 49,041,073 A6,703,796
2 15,173,822
& 11,859,023
< 2,700,067
s 12,604,365
ol & XH Ol & 1,453,133 2,851,114 A 1,397,981
2 580,822
< 19,714
s 852,597
TH 2 TH 20,288 978,430 A 058,142
Mgl 2= 20,288 720,946 A700,658
201 Let24d] 11,288 6,546 4,742
01 At 22/l 11,288 6,546 4,742
1) Bt =] 3,450
2)XATHN SFAHE =XE
10,000& 50 500
2)=2RHEAN =8 & M2 1,100 5005 550
)M AFRE S HI 200,000 = 12& 2,400
1)=&l 7,838
)M =2 XE S 7,000 6 x139€ 5,838
2)8tA RN S20HAHI 2,000,000 2,000
202 044l 9,000 8,400 600
01 = LH o4 1l 9,000 8,400 600
DL Hal=s7 A2 NS
50,000 «4H 452 9,000
TH 0 25 CH 24 181,610 133,178 48,432
Tt OFM 2t 2| 81,610 43,178 38,432
201 24l 35,610 37,018 A 1,408
01 At 2t 2l 23,130 23,130 0
1) Bt 2H| 15,500
)NHTHOH Hlmg 2 orM2e|HE A 22t
3,000,000& 3,000
Mg 22 WA 2,000,000& 2,000
2)HILUHHZ RS EEE MH
500,000 500
)= SR 2 10,000, 0002 14! 10,000
1)=&l 7,630
2)THEETHOHCH 2 AME Al 22X O A
7,000& «2H «3652 5,110
2)THHTHOH Al A& 22 X 0 A Y
7,0003 10«36 2,520
02 =224l 12,480 13,888 A 1,408
Na323 2 HMA 12,480
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I THol & T o
SRl THLEHO 2 OH =

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
)M TaAIAE s2 29
800,000& »12& 9,600
2N EELHEA 2XR3
163 *108] 128 »1,500H 2,880
202 oddl 6,000 6,160 A 160
01 = LH o4 1l 6,000 6,160 A 160
DHUHSES L HHSHSE £
50,000& «2H 60 6,000
401 Al HIZ 201 Y] 40,000 0 40,000
01 A& HI 40,000 0 40,000
Nl PEHE FES LAY
20,000, 000& 20,000
Nee st EAlS X AX 20,000,000 20,000
S==0off CHol 100,000 90,000 10,000
207 A O] 100,000 90,000 10,000
01 2339l 100,000 90,000 10,000
NELHNZ SN+ 89
100,000,000 * 14l 100,000
Mt THo =+ 1,057,736 1,594,000 A 536,264
= 577,429
< 16,439
e 463,868
AotE ZHl ALY 374,858 500,000 N 125,142
= 187,429
i 187,429
401 A& HIZ 201 I 374,858 500,000 N 125,142
= 187,429
s 187,429
01 A& HI 372,140 500,000 A 127,860
1NEA AAF AGHEFBIAL 372,140,000 372,140
= 186,070
[ia 186,070
03 A2 2 0HHI 2,718 0 2,718
NEA AAF 26HA H U A 2,718,000 2,718
= 1,359
e 1,359
S0l 28 EX3 32,878 0 32,878
< 16,439
s 16,439
301 et d s 32,878 0 32,878
S 16,439
i 16,439
12JEEd=S 32,878 0 32,878
NE+HEE BA43 32,878,000 32,878
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e THoh ==

= - — SHE|
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< 16,439
s 16,439

Mol & Xl = &l 650,000 1,094,000 A 444,000
= 390,000
e 260,000

401 Al HI 2 28I 650,000 1,094,000 A 444,000
= 390,000
s 260,000

01 A& HI 645,286 1,092,560 NAAT 274

DA WS MoHHE R Hl

645,286,000 645,286
= 387,171
e 258,115

03 A& S THHI 4,714 1,440 3,274
N HAS oA X HHl 4,714,000& 4,714
= 2,829
[ia 1,885

grlgtel 249 193,499 145,506 47,993
= 3,393
= 3,275
i 186,831

e e w=s 14,309 13,440 869
= 3,393
< 3,275
[ia 7,641

201 Let24d] 11,683 10,814 869
= 2,605
< 2,723
s 6,355

01 At 2teltl 11,683 10,814 869
nolge & =gyl 1,900, 000& 1,900
= 570
< 399
e 931
NHENS2ASL XA 1,500,000 1,500
= 450
< 315
s 735
DX Al 4 5,283,000& 5,283
= 1,585
< 1,109
e 2,589
NelgensssdArg 3,000,000& 3,000
< 900
[ia 2,100

301 LerE A2 2,626 2,626 0
2 788
< 552
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PN AL ST
Mol S

PRSI of & THLE ol gt
Sel: Y 2 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
NejgAgil Ji=dddis ss4¢
42 000& *300H 12,600
401 AlEHIZL £ 0HY| 67,705 69,975 N2,270
01 Al&H| 67,705 69,975 N2,270
NES2 19AHME NE 2 0L
22,8603 x2 568 M 58,705
oA Hlaiegas A|D (2SS FRPES
£) 500,000& = 1874 9,000
SUAZR2R A 22 10,356 10,436 A 80
201 B9 1,530 1,530 0
01 AP 22| H| 1,530 1,530 0
1) Bt424| 50
2)22A22 8 AE=HE 1,000& x50 50
NZ2Z229H| 1,480
2)ZAR2QY MHEE2(20Y)
74 ,000& x20H 1,480
301 et A= 8,826 8,906 A 80
09 2U2L2RIL A= 8,826 8,906 A 80
DEREERSS 8,826
2)2 0 97,0003 x1H x12& 1,164
2) = Al H| 5,000& 1 x250 1,250
2)W S H| 2,000& 1 x250 500
2)22=(5t=) 40,000 x2H x12H 960
2)22=(s=) 45 0002 x2H x12H 1,080
2)2R=E(ge=) 43,000 x2H x12H 1,032
)RS 2N, EES AEE 45 000& 124 540
)1 EXH0US 50,0002 x23| x233] 2,300
1199 U208 & 23 30,000 10,000 20,000
301 LBt A= 30,000 10,000 20,000
12 JIEtE2 A= 30,000 10,000 20,000
D119LI2 0|4 28X = 400,000 x253] 10,000
NU20I4 BHZET 23 20,000,000& 20,000
SIBIANER=ECZE SIASOHA 18,550,671 19,248,800 A 698, 129
2 9,969,023
= 803,353
= 7,778,295
SYI|BLAIE R X 22| ALY 1,894,095 6,569,701 N4 ,675,606
SsgIIg RF=X 306,200 288,424 17,776
201 et 306,200 288,424 17,776
01 AFR 2t 2| bl 14,310 11,346 2,964
1Ns A2 Kot 4=2 24 A 8,910




PN AL ST

e SUIBAEPEOR SIIASOHE

EHe: sEIIBIAIE S X 22 ALY (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AEEE T s
96,000& * 90JH 8,640
Q) AMNEBEZMNEEHRY 3,000& * 90K 270
1) B2 H| 1,200
2)sI|B AP 2 EH| 100,000& = 12& 1,200
DEEL:] 4,200
)Tl e =7 OHAY)
6% * 100 = 7,000& 4,200
02 2=2=24%H| 291,890 277,078 14,812
NIII2EEII23 223,890
Q)sHEII2RE Y REOSE M2
6,585 *34,000& 223,890
1Al & ZH| | Xl H| 68,000
2)II2S8 X2 3,000,000 =144 A~ 42,000
Q)sHEANLERIESL 2,000,000 134 &~ 26,000
SSHIIBAIE X 2e2lAtE 477,895 614,277 N 136,382
201 et 5,215 0 5,215
01 AFR 2t 2| bl 5,215 0 5,215
NHAI2X 7S cht oA M
5,000& 119 595
NHEA2R 7S =6t O2H| 20,000 1069 2,120
NHASR 7S chE8 S| 30,000 *503] 1,500
NHAZ2X 7Y WEeE2 DXA ME
1,000 =1,0000H 1,000
401 Al HI L 2 0HHI 472,680 614,277 A 141,597
01 Al& H| 472,680 614,277 A 141,597
NII2S 0 X &2 AFS (ESCO) & 8H2
352,680,000 x4l 352,680
NsHEIZE AL 60,000,000 60,000
NaEFEIE 0lsA S4I|4X
5,000,000& ~12CH 60,000
ARSSYIIBAIL 1,110,000 5,667,000 4,557,000
401 Al EHI L 204 1,110,000 5,667,000 A4 ,557,000
01 Al&H| 1,110,000 5,667,000 A4 ,557,000
NATRE =9 It AlA 1,040,000,000& 1,040,000
N&EA SZEY @42 & 70,000,000 70,000
2|8 HHIALY 5,504,576 6,128,196 AN 623,620
2 4,169,023
o=} 496,353
= 839,200
g8t AH| AL 5,104,576 6,128,196 AN 1,023,620
2 3,969,023
& 496,353




PN AL ST
X SYIENEFTFLZE SIotA
el E018 FEHIA

Jn

O

04

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

HJ

639,

200

401 AIEBIZ 2THEI

Mook

5,104,
3,969,

496,
639,

576
023
353
200

6,128,196

A1,023,620

01 A€ dl
NI SEHAY (012 E)

NEJIeHE ALY

03 Al 2 CHHI

1) BHEH ALY

142,847,000
4,948,333,000&

13,396,000&

M HY oo

Mo oo

,091,

142,

4,948,
3,958,

495,
495,

13,
13,

10,
1,
1,

180
847

333
307
013
013
396

396
716
340
340

6,113,251

14,945

A1,022,071

A 1,549

SOHEHNISEA X

0x

A o

400,

200,
200,

000

000
000

400,000

401 AIEHIZ 2 I

A oR

400,

200,
200,

000

000
000

400,000

01 A& HI

NsHEHOSEZHAMS (LRI F)

03 Al 2 THHI

s EHDO2

P
0x
=
1%
e
Y
=
1

397,120,000&

2,880,000&

H oK

H oK

397,

397,

198,
198,

2,

2,

1
1

120

120

560
560

880

880

440
440

397,120

2,880

JIHS B&=2 SHEE ALY

MHoH OB

,631
,800

231,
600

,000
,000

000

,000

2,392,400

238,600

JlMst B2 SZHAY

MHoHooR

,631
,800

231,
600

,000
,000

000

,000

2,329,000

302,000

401 AIEHIZ 2 HYI

MHJoHooR

571
,800

231,
540

,000
,000

000

,000

2,329,000

242,000

01 A& HI

NI B2 ST IAY

2,561,744,000&

0

,561,
561,

1,793,

744
744
520

2,321,336

240,408




PN AL ST

M SYIENEIZ2Z SIHA S0

fusk}

Jn
0

S DS BRI HEIAY CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
[ 230, 168
- 538,056
03 Al 20| 9,256 7,664 1,592
NI H S A2 LA 9,256,000& 9,256
2 6,480
== 832
= 1,944
403 XX SRS K20 & 60,000 0 60,000
02 SII2S 0 CHSHCH &AM I 60,000 0 60,000
NIIHSZBEHZ2ESZI ALY (2R HRH)
60,000,000& 60,000
E42 X2 MY 152,000 167,000 A 15,000
= 76,000
= 76,000
S R2ESS AY 152,000 167,000 A 15,000
= 76,000
= 76,000
401 Al HI L 2 0HHI 152,000 167,000 A 15,000
& 76,000
= 76,000
01 Al& H| 152,000 167,000 A 15,000
NELEZ RESAY 152,000,000 152,000
o=t 76,000
= 76,000
JIBHEHI AN (REAI) 3,512,000 1,240,000 2,272,000
JIBFEHIAFY 3,512,000 1,240,000 2,272,000
401 A HI L 2Ol 3,512,000 1,240,000 2,272,000
1 Al& H| 3,512,000 1,240,000 2,272,000
NRNE dE1 s2EF 20,000,000& 20,000
NRE 854 s22 % 20,000,000& 20,000
NXE LHY3 BXNEel s22ZE 20,000,000 20,000
NRE Solsd HEEHs2 ZEZ2A
12,000,000 12,000
NRE =018 & =22 & 20,000, 000& 20,000
NANE E20I2 & HHANE & s2 X
20,000, 000& 20,000
NXE AsS2s2EE 20,000,000 20,000
NXE SAsHEBHEZ Z2At 20,000,000 20,000
Netol DOol12 EES =2 EZEHAY
20,000,000 20,000
1)l HX s2AUZ2 ZEAA
20,000,000 20,000
Netoll Hatad =% Ald UXsHE HEALY
40,000,000 40,000




2N
D SYINBANETRECZ SItASHE

el

X ZH
S =

A4

J|EHE

oo

TH 2t

HI AR (XEA)

SA - BAEN) - NRAY - LS 0l &F 24 il HRE2

Nl 42 HAAL WAL A

20,000,0002! 20,000
et 2827 S22 20,000,000% 20,000
N NESZRE 10,000,0002! 10,000
N FLel 52 30,000,000 30,000
NYH 20 FNSZEE 20,000,0002! 20,000
NYH =AYV T A

20,000,000%! 20,000
Y PEOIS B2 FHl 20,000,002 20,000
)5S 28 S¥842 #) 20,000,002 20,000
1)5E w52l T84S S2EF 20,000,008 20,000
)55 A2 S2BE 20,000,000%! 20,000
)5S 55 S2EIBA 20,000,0002! 20,000
YK HS K&K HHAL 30,000,002 30,000
NAX 45 (RS)s52 TZBA 30,000,008 30,000
NAX HF2l DISHFZAE BA

30,000,0002! 30,000
DX 01 S2HH AEAY  20,000,0002 20,000
NI BE0IZ HIAY 20,000,0002! 20,000
NHI3 AR 52 BRBN 20,000,000%! 20,000
NHIS e S2EIBA 30,000,0008! 30,000
NHIS X 52 At2lRy 30,000,000% 30,000
NHI2 D% S2EITA 30,000,002 30,000
NHI3 22 ZUL 52 BRBN

20,000,000%! 20,000
NEE & S2ET AL 10,000,0002! 0,000
NEE NS S22 10,000,000%! 0,000
NEE 2Z2] WAMHALAME 20,000,002 20,000
NEX ZULXH +2EX &1

20,000,0002! 20,000
NEE NLsS2 EEBA 20,000,000%! 20,000
NEE NS Lolsl2 a2 24

13,000,000 3,000
13t 0{20t2 W42 HHl 20,000,002 20,000
1)5te 2018 +2 F4 25,000,000%! 25,000
)5t $217 2 20,000,000%! 20,000
1512l £237 Zeel sEE 25,000,000 25,000
NS AS=SHA NS 20,000,000%! 20,000
NS 4S52 EEBA 25,000,000% 25,000
Ao Asiel SREE 25,000,000% 25,000
NEN SFBHAX W2 H24

30,000,000% 30,000
NN AGHE FHIAY 25,000,0002! 25,000




2N
D SYINBANETRECZ SItASHE

el

X ZH
S =

A4

J|EHE

oo

TH 2t

HI AR (XEA)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

NEL 2822 =248 ZTLAE U4

30,000, 000& 30,000
NeHE AIM =2 W HAN 30,000,000& 30,000
netx thel s2 =& 20,000,000& 20,000
1)etEt Xtetel s2ZE B A 20,000, 000& 20,000
Netst s s=2x % 20,000, 000& 20,000
N223 S =2 AE S A 20,000,000 20,000
NEZ2 HAE s2Z S A 10,000, 000& 10,000
NE3 N2 =223 AM 25,000, 000& 25,000
NES A2 s=2ELESAM 20,000, 000& 20,000
N2z A8K =28 =2 &X

25,000,000& 25,000
Nga s gz &4 20,000, 000& 20,000
NYE QA1 =2 HEH 30,000,000& 30,000
NYE Qa2 =22 20,000, 000& 20,000
TZEN &0 JHAHEX 20,000,000 20,000
E &0 =2 Ayl 20,000, 000& 20,000
Nz N8 HAAY 30,000,000 30,000
NEI2 24 WHAIY & ZF 20,000, 000& 20,000
NEI2 =X HAHA 20,000, 000& 20,000
Nex &t =22 & 30,000,000& 30,000
N8 &1l =2 MEUREZM

10,000, 000& 10,000
NEE PEE =2 AMeIREIA

10,000, 000& 10,000
NS S 52 ZHESA 20,000, 000& 20,000
DX &MelotE HAH SA 20,000, 000& 20,000
NS D& s22F 20,000, 000& 20,000
Nk 2del A 10,000, 000& 10,000
NS WA =2 A 10,000,000& 10,000
NS W2 HHAY 20,000,000 20,000
NEH F2os3 s22%E 20,000, 000& 20,000
e Q422 =2 ZF 20,000, 000& 20,000
1)5te 28l s22 & 20,000, 000& 20,000
1)ote @84el sz ¢ oHdEH

20,000, 000& 20,000
1)6te 2222 =2 XL 15,000, 000& 15,000
1)56te 8322 =2 L& 15,000, 000& 15,000
Nale sts13 22 &4l 20,000, 000& 20,000
Neo 4837 =22 20,000, 000& 20,000
NEN 28 s2ZEHSA 15,000, 000& 15,000
NXE HWE3T =& s AEAY

10,000,000& 10,000
NXE W3 =2 ZEHIA 20,000, 000& 20,000

_10_
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PN AL ST
X SYIENEFTFLZE SIotA
el JI1BtAEHI ALY (REAI)

Jn
°
0

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

NYH ARl 22-852 52 ZEAY

15,000, 000& 15,000
o AE32 2SAHIR s+=2 A

10,000, 000& 10,000
e 20H2Rl 4D 52 TFAMY

10,000, 000& 10,000
Neol nol1el ¢ =2 ZHAY

20,000,000& 20,000
Neol Alg1el 02 s22 AY

30,000, 000& 30,000
Neol stwel OI2s =28 ZEAY

20,000,000& 20,000
Nl sMdiel SE-AE =28 ZTFAY

10,000,000& 10,000
Nt gxel s ZEAY 15,000, 000& 15,000
gl sA22 =2 Al 15,000, 000& 15,000
Neol Ag2e s2 ZEAY 10,000,000 10,000
Nl 312 52 ZEAY 10,000,000& 10,000
N8k 88 52 AMel=24 15,000, 000& 15,000
NEk 252 =2 MRS 15,000, 000& 15,000
NE& s0tX-S6d2 =2 Z& 20,000,000 20,000
NEE gxel L= MIHAY 20,000,000 20,000
NLX stk WA S AL 20,000, 000& 20,000
NS el s=2EZEIA 20,000, 000& 20,000
NI oIl HASA 20,000, 000& 20,000
NSA dete] s2ZE I A 10,000,000 10,000
N 2ae s2ZE S A 20,000, 000& 20,000
N MEZ SZIZEIA 20,000, 000& 20,000
N 7l o2 ¥ s ZFIA

20,000, 000& 20,000
NS 2gel s+2 MIH A& 10,000,000& 10,000
NS sacl WA AIE 10,000, 000& 10,000
NS A A AIE 10,000, 000& 10,000
NS Hae s28 ZE3AM 10,000,000& 10,000
Nk #E2 =2 WA A4 20,000, 000& 20,000
N2 UWE s2 ZE3A 20,000,000& 20,000
NEI2 WE AGHE HASA 20,000, 000& 20,000
NEl2 WZE 0FSY7 A3 A 20,000,000 20,000
NEI2 & AGHE SIS A 10,000,000 10,000
N2 = &Ml HHSA 15,000,000& 15,000
NEI2 288 =228 2 IHAHSA

20,000, 000& 20,000
NEl2 20 =223 A 15,000, 000& 15,000
N2 Jrak M=K KMa+=2 XS A

20,000, 000& 20,000
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PN AL ST

e SUI|BAEREOR SIHASOHE

Sl DIBHEHI AR (XHAI) (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2

NEx H2el 52 ZZFIAL 20,000,0009 20,000
EX strel 542 F&AMY 20,000,002 20,000
NEX SE% 52 ZEFIA 20,000,0009 20,000
NEX ME ¢ 52 TZBA 20,000,009 20,000
1)5tel @elen SZEEIA 20,000,009 20,000
1)6te el17 SZEEIAF 20,000,0008 20,000
1)5tel tiele? SZEZIA 20,000,009 20,000
1)6t0] $B3T SEEAIZAF 20,000,0008 20,000
Aol A4S th4g Zl 20,000,000} 20,000
Aol A4S37 ez | 20,000,000% 20,000
alel ots2n SZEEIA 10,000,0008 10,000
Nalel 5E37 02 Y 542 24

20,000,0008! 20,000
DA GHM1T SZEEIA 20,000,008 20,000
Nalel GHE17 AYXR A2l s

10,000,00024 10,000
alel AN4T NRYIR A2l s

10,000,00024 10,000
Nalel NP S2EF 20,000,0008! 20,000
Nalel 4SNP S2EF 10,000,00024 10,000
N Bel 52 STHBA 20,000,009 20,000
1)0t3 gtEel =2 EEIA 20,000,009 20,000
1)erx Oidlel 2o 52 EEIA

20,000,0002 20,000
1)erx Z2el =2 EEIA 20,000,008 20,000
1eHE H0 52 EEBA 12,000,0008! 12,000
)0 % SO At2IR& ZAb 15,000,009 15,000
)03 LiSel Atel=& ZAF 15,000,0002 15,000
1)0r% Otel =2 EEIA 20,000,008 20,000
0% 22 52 EZIA 20,000,0008! 20,000
oE F2l 52 EEBA 10,000,00024 10,000
NZ2 ZEel ZADY =2 AR DA

20,000, 0002 20,000
NZ2 Z=22l W42 AL A 15,000,009 15,000
NZ2 g2 52DIY 52 THZA

20,000,0008! 20,000
NZ2 g2 52 ZEBA 15,000,000 15,000
22 22 S2(2H)EEIA

10,000,000 10,000
12EH T2l 42 Al 10,000,0008! 10,000
1)2EN D2l HH AA 20,000,0002! 20,000
)2l BDel 52 ZAIA 10,000,0008 10,000
)2l @2l =2 EEIA 10,000,0002 10,000

NESSBWLAY 4,857,000 1,431,000 3,426,000




2N
D SYINBANETRECZ SItASOHE

el

X ZH
S =

rag=R=p\ i

NE==E2ZHE A

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
2 4,000,000
- 857,000
NES=S 2 4,857,000 1,431,000 3,426,000
2 4,000,000
= 857,000
401 AlEHIZL 2 0HY| 4,857,000 1,431,000 3,426,000
2 4,000,000
= 857,000
01 Al&EH| 4,843,886 1,425,848 3,418,038
DR ESS 2 AL 4,843,886,000& 4,843,886
2 3,989,200
= 854,686
03 Al 201 Y| 13,114 5,152 7,962
DR ESB 2 AL 13,114,000 13,114
2 10,800
= 2,314
SEXMAIEALS 19,057,942 23,384,798 N4 ,326,856
= 14,593,000
& 1,877,000
= 2,587,942
SERMAIEALS 19,057,942 23,384,798 N4 ,326,856
= 14,593,000
& 1,877,000
= 2,587,942
N2 R ELZ2AHAS) 19,057,942 23,384,798 N4 ,326,856
= 14,593,000
& 1,877,000
= 2,587,942
401 AlEHIZL 2 0HY| 18,676,942 23,092,942 A4 ,416,000
= 14,593,000
= 1,877,000
= 2,206,942
01 Al&H| 18,631,116 23,042,926 A4 ,411,810
DRSS IH HESADG(0IRY)
2,198,997,000& 2,198,997
DX S22 SXEH HE=AY
16,432,119,000& 16,432,119
= 14,559,436
& 1,872,683
03 AlE 21| 45,826 50,016 A4,190
DR 22| S XM HESALS
16,470,000,0002 x0.23% 37,881
= 33,564
& 4,317
DR S22 XM HESAS (0IEE)
2,206,942 ,0002 0. 36% 7,945
403 XX SHHS K20 & 381,000 291,856 89, 144




fN:HE
HE: GEH AL ALY
SRl HEMAIE ALY (&)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
02 S| 2SO0l CHEHCHE AH B 381,000 291,856 89, 144
NXLZe/LdIH HESAS (FHREZX)
381,000,000& 381,000
H=E0S ZEAY 3,193,571 3,472,861 A 279,290
& 1,890,000
= 1,303,571
H=EMSZLE ALY 3,193,571 3,472,861 A 279,290
& 1,890,000
= 1,303,571
d=E0E RFA 18,331 6,150 12,181
101 1Al 12,811 0 12,811
04 JIZtHZ22HsSE+ 12,811 0 12,811
NE=0ts 2N 12,811
2123 39,0003 *1&H 200 7,800
21 x¢ 7,800,000% *1/3 2,600
)Nt 2R¢ 6,560& «10AI 2t+100H & 656
2)FRrsS=4% 39,000& »35= 1,365
Q)RS FIHE 39,000& 10 390
201 LEr2A | 5,520 6,150 A 630
01 At 22l bl 5,520 6,150 A 630
1) Bt =] 3,000
)H=0ts =29 & HAXE M2
1,000, 000& 33! 3,000
1)=&l 2,520
)H=S0SLRFX HA
7,000& 38 %1202 2,520
HACS SEEHAY 2,765,240 41,240 2,724,000
& 1,890,000
= 875,240
201 et 5,240 5,240 0
01 At 22l 5,240 5,240 0
1) Bt =] 3,000
2)gtsdoE 22(&, 52) i M2
1,000,000& *33! 3,000
DELE 1,120
2)sE0SLY RN HAH
7,000 «2H %802 1,120
negs=g 1,120
2)0t8gsos 289+
70,0003 »8F »22] 1,120
207 RO 60,000 36,000 24,000
01 2739l 60,000 36,000 24,000
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SN AL
MM ANSAHY (ALY D)
Chel: D=2 A
- _ _ RE!
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
| | | DEEESE 250,0002 * 12 3,000
HWRE=S (AL 70,000 70,000
WEHHK= 70,000 70,000
LHEHeH K = 70,000 70,000
702 JI2NE2 70,000 70,000
01 JI2x=2 70,000 70,000
D222 ®E 70,000




